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The figures in the margin indicate full marks

for the questions

( History of Classical Sanskrit Literature )

( Marks : 35)

1. Answer any two of the following questions :

(a)

(b)

(c)

A7/835

10)<2=20 .

Discuss the origin and development of the

ornate poetry.

Make an assessment of the Mahakavyas

written by Bharavi and Migha.

Show your acquaintance with the Historical

Kavyas in Sanskrit literature.

( Turn Over )
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(2)

2. Write a note on any one of the following : 10
" Kumarasambhavam ; Gitagovindam ;
Asvaghosa.

3. Answer the following questions as directed : 1x5=5

(a) The Bhattikavya contains four Kandas of
which the last one is the

( Rewrite the sentence filling

up the gap )

(b) Name one Kivya included into the
Laghutrayi.

(c) The Janakiharana was written by Kalidasa /
Bhatti / Kumaradasa.

( Rewrite the sentence choosing the
correct name of the author )

(d) In the Meghadata, Megha sends message to
his wife through Diuta.

( Determine whether the statement
is True or False )

(e) How many Ucchvasas are there in the
Harsacarita?

A7/835 ( Continued )

6. Answer any two of the followingquestions :

(3)

( Laghusiddhantakaumudi )

( Marks : 25)

4. Explain fully with proper examples any five of the

following : 2x5=10
W™l gRer ;s e

W I TG TERGTE ;A I
fags e |

Join and disjoin the Sandhis in any five of the
following : 1x5=5

5x2=10

(a) What is ¥ #4? Explain with examples.

(b) Explain the Satra ﬂ?}ﬁ W:Elaﬁ’ after deﬁning
RS CALH

(c) What do you mean by 3WRM? Which
case-ending is used in YEHFRFH?

A7/835 ( Turn Ower )



(4)

( General Grammar )

( Marks ; 20)

7. Answer the following questions as directed. :

(a) Decline any five of the following :
(i) ¥RS in o1 A
(ii) TR in fadran feg=
(iii) ¥ in JHAT THAA
(iv) ATTHL in T The=A
(v) ¥ (o) in To Fg7=
(vi) 49 in wwft owa=a

(b) Conjugate any five of the following :

(i) 91 + ¥ 3rd person plural
(ii) & + W1 2nd person singular
(iii) 379 _+ &g 3rd person plural
(iv) ¥9_ + T2 3rd person plural
(v) ¥ + &2 3rd person singular
(vi) % + fafdfeg 1st person plural

A7/835

5x2=10

( Continued )

(S)

8. Answer any two of the following questions : 5x2=10

(a)

(b)

(c)

A7—1200/835

Change the voice in any two of the following
sentences : ‘

(i) T: THFHH_ &AL
(i) =BT ATforRTTEG TEAT |
(iii) ¥: ¥ fawg 7 Sl |
Frame sentences to show the difference in
meaning of any two of the following pairs :

(i) ¥IR% and Y
(if) AN and 3T=RIY
(iii) IMA and Toa

Give the resulting forms of any five of the
following :

() w4+

(i) & + P + &
(iii) FRS T=Bfd

(iv) fiar & srfa

(v) T+ 7

(vi) -3 + &Y

* k& &
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